SHMSFEE ALRRTFERHE (IR

B ¥ BE K2

BEEMEERICHS TAERMDOERIZE 1 =
BEEMEERRICETA2ERZERMRNRBIZERE 6,025,000 P
BEEMEERICEITEZNHRENRIES 3,100,000 =B
1@)&%%%5%[!@&%1&%% 55,000 EB
EEELIGHEHENF 2 30,000 B
Eéﬂiﬁé(#Ei‘:ll%l]-is%i"liﬁﬁéu)%Wﬁ%(ﬁrﬁﬂiﬂjﬁﬁ)%mﬁll 291,150 54
(U R ) a8 - $A 4 2 - B AKEN 333,200 )
BEEHREENINMFRBHERY—IL vk (F2&<L1EHR) 2,156,000 54
BEiER GERE B aE R E 3@ 2,135,000 5
EEEXCG IR G EDEE 1,400,000 #H
REEERAHE DR #9834,000 o
EAZRBREERREEHE(SHMSEI0E~SH6EIASN) #950,000 5
FEANZTBAEERRESHER (RHM6FE4BA~SH6FEIAR) $350,000 58
BEELRMIEOELLY INRIEHE(SM5E8A5~4A8%) 1735 &f x 9[H] &R
SHSEETZILARREE 1 SNMEBESZEFI 408,000 x
PEOEAEYDEEEEHRE)—TL Yk 2,232,000 18
FIFHEE (VS —F2 5 -/ —3vh) 54,000 "
BEIATYH—US—F2F - /8—3v}h) 7,000 5
BEFIL-RRE—(N—FJ - /8—3Yh) 14,000 4
YO T5—\R T VI QHIRI 185,000 i}
RERER 54,500 &R
SHSEERRINGEEEEZENENRIZETE 10,8006 % 13[g] &R
BEEESER 130,800 =
(BEEZES-LY I FNREESZH 1,730,000 x 3[E][ ER(1EIZHFY)
SHSEEZELAR—RENRI 63,000 &R
SH6FEERIHILA—RENRI 97,000 &R
-7TRX%— 1,600 ®

F3< 60,000 '8

HAERMEXO— R 0L LB EDBX T RBEFOHERE-] BiE% 6,000 "
-EE % 10,000 54

-X$% 1,000 it

- RAZ— 1,600 P33

-F53 60,000 "

BRI E LEEFB) 18154 6,000 M
-ERE % 10,000 ®

X%  1.000 fin

BEEFHEE 2,300 il




